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5. o2 1A mABCD & HAHAF |t} gABCD = 28cm? &
APBC 9] Ylo|& oloat,
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1 1
APBC = SOABCD ©[H.2 aPBC = 7 x 28 = 14(cm?)
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12. o2 279 A2 ABCD oA AD//BC ©]1l, AABC 2] Ho|7t
20cm? ©]1, ABEC ©] H©]7} 10ecm? & uj, ADEC 9] {o|& L6}
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Uro] sty LAy PPt A d72| 9] At goeBg
AABC 9] 0]} ADBC 9] Jol= 523}t

ADBC = 20cm?
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HPAAYE ABCD 4ol Arel 10cm? o]t}




15. o5 293 Zo] gABCD 7} HaAMH P o]al APBC = 14cm? ¢ o,

= O HYH Y o] Ul L
T TT’: Pjﬂ] o]t‘r)

A P D
B C
@ 13cm? @) 14cm? @ 15cm?
@ 16cm? ® 17cm?
A P D
:
]
]
]
I
B C
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AOBC 9] Ho]&?

A D
(0)
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@ 25cm? @)35cm? ® 45cm?
@ 55cm? ® 65cm?

AABC = ADBC 9|22 AABO = ADOC
" AOBC = 50 — 15 = 35(cm?)
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oL @ Artez G ax7

@ A ® "ER

B \
(ABC + /BAD = 180°°]|2& /GBA + /FAB = 90°°]1
AABE A /AEB = 180° - 90° = 90° °]t}.
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22. o2 I1doA oBDEC 9] ¥ o]+&= 40cm? ©]17, AADE 9] ¥ o|+= 16cm?
A o, ABEC 9] {o]=?
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D E
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AADE = ABDE,
ABEC = O0BDEC - ABDE°| 22
ABEC = 40 — 16 = 24(cm?)




23. T2 1A AABC 9] Hol= 24cm? 9]
T AD:DB=1:2,DE:EC=1:3¢
o, AEBC 9] Yo]&?
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ADACS} ADBC Q] =o|=omg
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ADBE ¢} AEBC 9] ol Zouz
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28. 2 1A BD:CD=2:1,AE: CE = A
2:3,AP :DP =1:1°]t}. AABC =

30cm? Y 1, AAPE ¢ Ho| 2 2slodal, E

B S—C
> = cm’
> det 2 cm?

AAPE = AABE - AAPB o[t}
AABE:3OX§: 12

2 1
AABD:3OX§ =20, AAPB:AABDX§ =10
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1 1 1 1
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1 1
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OABCD = AAOD + ADOC + AOBC + AABO ©]t}.

AAOD 9] YolE g2l 51, 1:3=a: ADOC, ADOC = 3a
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OABCD = a + 3a + 3a + 9a = 16a = 64cm? , a = 4cm?

. AABO = 3a = 12cm? .
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AFh2]ZE ABCD 9] Yol 27cm? € ©, AABO 9] Hol=?

A D
(9)
B C
D)6cm? @ Tcm? @ 8cm?
@ 9cm? ® 10cm?

S5 ~
0ABCD = AAOD + ADOC + AOBC + AABO °]t}.

AAOD 9 HolE gl 6HH, 1:2=a: ADOC, ADOC = 2a
ADOC = AABO =2a,1:2=2a: ABOC, ABOC = 4a
OABCD = a + 2a + 2a + 4a = 9a = 27cm? , a = 3cm?

. AABO = 2a = 6cm?
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